<script language="JavaScript">

<I-- Begin
function NEQ (form) {
form.output.value = gematria (form.input.value);

}

function gematria (input) {
var sum=0;
for (var i=0; i<input.length; i++) {
letter = input.substring (i, i+1);
value1 = 0;
value2 = 0;
if ((letter =="") || (letter =="")) {val = 0}
if ((letter ==",") || (letter ==",")) {val = 0}
if ((letter ==".") || (letter == ".")) {val = 0}
if ((letter == "?") || (letter == "")) {val = 0}
if ((letter =="1") || (letter == "[")) {val = 0}
if ((letter == "1") || (letter == ":")) {val = 0}
if ((letter == "-") || (letter ==";")) {val = 0}
if ((letter == "A") || (letter == "a")) {val = 1}
if ((letter == "B") || (letter == "b")) {val = 2}
if ((letter == "C") || (letter =="c")) {val = 3}
if ((letter =="D") || (letter == "d")) {val = 4}
if ((letter == "E") || (letter == "e")) {val = 5}
if ((letter =="F") || (letter == "f")) {val = 6}
if ((letter == "G") || (letter == "g")) {val = 7}
if ((letter == "H") || (letter == "h")) {val = 8}
if ((letter == "1") || (letter == "i")) {val = 9}
if ((letter =="J") || (letter =="j")) {val = 10}
if ((letter == "K") || (letter == "k")) {val = 11}
if ((letter =="L") || (letter == "I")) {val = 12}
if ((letter == "M") || (letter == "m")) {val = 13}
if ((letter == "N") || (letter == "n")) {val = 14}
if ((letter == "O") || (letter == "0")) {val = 15}
if ((letter == "P") || (letter == "p")) {val = 16}
if ((letter =="Q") || (letter =="qg")) {val = 17}
if ((letter == "R") || (letter == "r")) {val = 18}
if ((letter == "S") || (letter == "s")) {val = 19}
if ((letter =="T") || (letter == "t")) {val = 20}
if ((letter == "U") || (letter == "u")) {val = 21}
if ((letter == "V") || (letter == "v")) {val = 22}
if ((letter == "W") || (letter == "w")) {val = 23}



if ((letter == "X") || (letter == "x")) {val = 24}
if ((letter == "Y") || (letter == "y")) {val = 25}
if ((letter == "Z") || (letter == "Zz")) {val = 26}
if (letter == "0") {val = 64}

if (letter == "1") {val = 34}
if (letter == "2") {val = 58}
if (letter == "3") {val = 56}
if (letter == "4") {val = 60}
if (letter == "5") {val = 42}
if (letter == "6") {val = 52}

if (letter =="7") {val = 65}

if (letter == "8") {val = 49}

if (letter == "9") {val = 42}

if (letter == "&#1488;") {val = 1}
if (letter == "&#1489;") {val = 2}

if (letter == "&#1490;") {val = 3}
if (letter == "&#1491;") {val = 4}

if (letter == "&#1492;") {val = 5}

if (letter == "&#1493;") {val = 6}

if (letter == "&#1494:") {val = 7}

if (letter == "&#1495;") {val = 8}

if (letter == "&#1496;") {val = 9}

if (letter == "&#1497;") {val = 10}
if (letter == "&#1499;") {val = 11}
if (letter == "&#1500;") {val = 12}
if (letter == "&#1502;") {val = 13}
if (letter == "&#1504;") {val = 14}
if (letter == "&#1505;") {val = 15}
if (letter == "&#1506;") {val = 16}
if (letter == "&#1508;") {val = 17}
if (letter == "&#1510;") {val = 18}
if (letter == "&#1511;") {val = 19}
if (letter == "&#1512;") {val = 20}
if (letter == "&#1513;") {val = 21}
if (letter == "&#1514;") {val = 22}

sum = sum + val;

}

return sum;

}

/l End -->
</script>



<form>
<div align="center"><center><table border="0" height="164">
<tr>
<td align="middle" height="82"><font color="BLACK"
face="Arial">Type word(s) here: Upper and Lower case
are allowable.<br>
<br>
<textarea name="input" rows="3" cols="34"
wrap="physical"></textarea> </font></td>
</tr>
<tr>
<td align="middle" height="27"><font color="#FFFF80"
face="Arial"><input type="button" value="Get Value"
onclick="NEQ(this.form)"> </font></td>
</tr>
<tr>
<td align="middle" height="43"><font color="#FFFF80"
face="Arial"><textarea name="output" rows="1"
cols="34" wrap="physical"></textarea> </font></td>
</tr>
</TBODY> </table>
</center></div>
</form>



